
MTS
MONITOR TOP EXTENSION

Instruction Manual
Bedienungsanleitung

Mode d‘emploi



2MTSIM MTS MONITOR TOP EXTENSION MANUAL

2x

2x

1x

PARTS [dimensions in mm / different scales]
No extra or spare parts listed!

6x

700

40

40

350

40

40

40

40

1x 1x

120 40

40

1x



3MTSIM MTS MONITOR TOP EXTENSION MANUAL

4x

BAG 1

4x

4x

BAG 2

4x 4x

4x

12x

8x

black

black

 
6 

 16 

 
6 

 14 

 
6 

 16 

M6

 6,4 
 12 

 30 

 Ø
8 

M8

black

black



4MTSIM MTS MONITOR TOP EXTENSION MANUAL

ASSEMBLY

120 mm

700 mm

4x
 M

6x
14

bl
ac

k

4x
 w

as
he

r 
Ø

12

4x
slot nut

M6

2x
pre-assembled 

universal
connector

on both
sides



5MTSIM MTS MONITOR TOP EXTENSION MANUAL

350 mm

4x
slot nut

M6

2x
M6x16
black

2x
washer Ø12

black

2x
M6x16
black

2x
washer Ø12

black

counterbores
to the inner side

2x
slot nut

M6

2x



6MTSIM MTS MONITOR TOP EXTENSION MANUAL

4x
M6x16

flat head
black

Detail



7MTSIM MTS MONITOR TOP EXTENSION MANUAL

6x
cap



8MTSIM MTS MONITOR TOP EXTENSION MANUAL

2x
slot nut

M8

2x
M8x30

2x
universal
connector

very loosely
pre-assembled



9MTSIM MTS MONITOR TOP EXTENSION MANUAL



10MTSIM MTS MONITOR TOP EXTENSION MANUAL

Loosen the yellow 
marked screws on 
both sides to adjust 
angle and height.



11MTSIM MTS MONITOR TOP EXTENSION MANUAL

Loosen these screws to 
change the position of 
the VESA mount.

Loosen these
screws to
change height.



23-03-2023


